	/** note:

 method calls itself with smaller width

 method has a stopping case

 method has two return statements which is OKAY in recursion
*/
public class Triangle
{  
  private int width; 
  public Triangle (int aWidth)
  {
     width = aWidth;
  }

public int getArea()
{
  Triangle smallerTriangle;  

  int smallerArea;           // area of smaller figure
  if (width == 1)            // stopping case
    return 1;   


  smallerTriangle = new Triangle (width - 1);  // recursive call
  smallerArea = smallerTriangle.getArea();           

  return smallerArea + width;
} // end getArea
 
} // end class Triangle
  


Assume that you want to find the area of the following triangular shape where each box has area of 1 unit.  To find the area of the bottom row of 7 boxes, you find the area of the row above it which has 6 boxes and add 1;  to find the area of the row which has 6 boxes, you find the area of  the row above it which has 5 boxes and add1, etc.     Below is a class containing the recursive method implementing this.  Below that is a drive to construct a Triangle object and to have it call the recursive method.
	/**
   This class is the driver for the PlayWithTriangle class

which has a recursive method in it.


*/
public class PlayWithTriangleDriver
{
   public static void main (String [] args)

{

    int size;

    Triangle myTriangle;

    myTriangle = new Triangle (7);

    size = myTriangle.getArea();

    System.out.println


   (" the size of a triangle of width 4 is " + size);

}// end main
} // end class




